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General Instructions:
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(i)

(iif)

{iv)

)

All questions are cempulsory.

" The questioh paper consists of 34 questions divided into four sections-A, B, C and D, ..

Section-A comprises of 8 questions of 1 mark each; Section-B comprises of 6 questions of 2
marks each; Section-C comprises of 10 questions of 3 marks each and Section-D comprises
of 10 questions of 4 marks each.

Question numbers 1 to 8 in Section-A are multiple choice questions where you are required
to select one correct option out of the given four. :

There is no overall choice. However, internal choices have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Question numbers 1 to 8 carxy one mark each. For each question, four

alternative choices have been provided of which only one is correct. You have
to select the correct choice.
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If —4is the zero of the polynomial p(x) = x2 + 11x + k, then value of kis -
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Maximum number of zeroes in a cubic polynomial are : *

{a) 0 (b) 1 () 2 () 3
CHETINE + BY + 15TM a2 + 33 — 10 IR R ¥

(2} X+ 3 B x+5 o  x=5 (@ x-3

Common factor in quadratic polynomials 32 + 8x + 15 arid 42 + 3¢ — 10is:
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At angled isosceles triangle ABC is right angled at A. Then ZBis:
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Point (-2, 5} lies in the quadrant ;
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